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1. EERRDUT 5 (20 57)
(1) 4R EE (Newtonian fluid)
(2) T EEEL (Reynolds nﬁmber)
3) fﬁﬁ%‘tﬁiﬁ (Irrotational flow)
(4) TR 4R K2 (Streamline function)

5) FE/KEESE#T (Hydrostatic balance)

2. B R FUEEIE(Cartesian coordinate) R o] B4R R 48 5 220 (Continuity
equation of incompressible flow) EﬁUtH_FIIEJ‘j‘@r“ 6 {EmE _HAVEE HERG T
ER{AR=C - (20 43)
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3. ¥R IF(Cartesian coordinate) R L T A s e =t R iR E—1Ery
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4. T EEERNERI2E - BUEFHESEERERE il » I BW
Bernoulli's equation » HHEHIRE O=0 u: BE p : B p: BE -
FE x1 1 2 (i BT B AR (Pitot tube) TR T 5 FEHIRRMZ {82 IR HE? (20
77)

e
(Pitot tube)
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5. Lagrangian B Eulerian $E#UR BB HY = B2 BB MA? (20 43)
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